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Instructions for the Candidates

. Write your Roll Number in the me provided on the top of this page.
. This paper consists of one hun {
. At the commencement of examination, the question booklet will be given to you. In the first 5 minutes, you are requested

100) multiple choice type of questions. All questions are compulsory.

to open the booklet and compulsorily examine it as below :

(i} To have access to the Question Booklet, tear off the paper seal on the edge of this cover page. Do not accept a booklet
without sticker seal and do not accept an open booklet.

(i) Tally the number of pages and number of questions in the booklet with the information printed on the cover page.
Faulty booklets due to pages/questions missing or duplicate or not in serial order or any other digcrepancy should
be got replaced immediately by a correct booklet from the invigilator within the period of S minutes. Afterwards,
neither the Question Booklet will be replaced nor any extra time will be given.

(iii) After this verification is over, the Test Booklet Number shouid be entered on the OMR Answer Sheet and the OMR
Answer Sheet Number should be entered on this Test Booklet.

. Each item has four alternative responses marked (A), (B), (C} and (D). You have to darken the oval as indicated below on

the correct response against each item.
Example: (A @@ (C (B where (B) is the correct response.

. Your responses to the items are to be indicated on the OMR Answer Sheet under Paper - [ only. If you mark your

responge at any place other than in the oval in the OMR Answer Sheet, it will not be evaluated.

. Rough Work is to be done in the end of this booklet.
. if you write your Name, Roll Number, Phone Number or giut any mark on any part of the OMR Answer Sheet, except

for the space allotted for the relevant entries, which may disclose your identity, or use abusive language or employ any
other unfair means, such as change of response by scratching or using white fluid, you will render yourself liabie to
disqualification.

. You have to return the original OMR Answer Sheet to the invigilator at the end of the examination compulsorily and

must not carry it with you outside the Examination Hall. You are however, allowed to carry original question booklet and
duplicate copy of OMR Answer Sheet on conclusion of examination.

. Use only Blue/Black Ball point pen.

. Use of any calculator or any electronic devices or log table etc., are prohibited.

. There shall be no negative ma.rkmlg

. In case of any discrepancy in the English and Gujarati versions of questions, English version will be taken as final.
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POLITICAL SCIENCE
Paper - 11

1. “The object of science is to show | 1. “(Qsiieiel &q ARl UI5IR Udl A 3dl

things happen, and why ... they do
happen .... The political theorist,
on the other hand, is essentially
concerned with the discussion of
what ought to be. His judgments are
at bottom value judgments.” Who
said this ?

(A) Isaiah Berlin

(B) Alfred Cobban

(C) Karl Popper

(D) Bernard Crick

2. Which thinker distinguished between

‘the liberty of the ancients’ and ‘the
liberty of the moderns’ ?

(A) J. S. Mill

(B) John Locke

(C) Isaiah Berlin

(D) Benjamin Constant

3. What is the underlying principle of

correction in the idea of ‘justice as

recognition’ ?

(A) Addressing the fact of
economic exploitation and
marginalization

(B) Determining the fair punishment
for wrong-doing

(C) Ensuring that state institutions
homogenize societal diversity

(D) Eliminating structures and
patterns of humiliation and
disrespect

Ad ALSIR e B 3 widlddi-dl B, 2 IR
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4. T. H. Marshall breaks down
citizenship into which three
categories of rights ?

(A) Religious, Economic, National
(B) Personal, Political, Welfare
(C) Civil, Political, Social

(D) Natural, Political, Fundamental

5. “Power needs no justification, being
inherent in the very existence of
political communities; what it does
need is legitimacy .... Power springs up
whenever people get together and act
in concert, but it derives its legitimacy
from the initial getting together rather
than from any action that then may
follow.” Who said this ?

(A) Hannah Arendt
(B) Antonio Gramsci
(C} Steven Lukes
(D} Louis Althusser

6. Which of the following is true of the
theory of classical liberalism ?
a. The development of human
welfare is the function of the
State.

b. The State is an outcome of a social
contract among individuals.

c. Freedom is the natural condition
of man.

d. Property is an entitlement and
embodiment of freedom.

Codes :

(A) a,b,cand d
(B) b,cand d
(C) a,cand d
(D) a, band c

4. 2Ly HIglg ARSI sULAQ S8l
i [Qetifsd 528 2
(A) dlbls, 2ufels, gAYl
(B) cu{sddld, A5, s
(€) Hesl, AwslY, Amilrs

(D) uislds, xS, Haeld
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c. dAdl A M1l seddl
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(A) a,b,cwa d
(B) b,cu d
() a,cua d
(D) a,byd c




7. Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Select the correct answer from the
codes given below :
Assertion (A) : Capitalism, according
to Marxism, can be distinguished
from other forms of commodity
exchange in that it involves not
marely the exchange of commodities
but the advancement of capital, with
the purpose of generating profit.
Reason (R) : Capitalism depends
conceptually on the person as an
altruistic benevolent self.
Codes :
{(A) Both (A} and (R) are true and (R)
is the correct explanation of (A)
(B) Both (A) and (R) are true,
but (R) is not the correct
explanation of (A)
(C} {(A) is true, but (R) is false
(D) (A) is false, but (R) is true

8. Which of the following statements
are true of liberal feminism ?

Select the correct answer from the
codes given below.

a. It is essentially reformist.

b. Itadvocatestheguaranteeofrights
as a tool of empowerment.

c. It regards sex in terms of
performativity.

d. It depends on the fluidity of sex
as a category.

Codes :
(A) aand b {B) band c
(C) cand d (D) aand d
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9.

10.

Which of the following statements
is true of the theory of
multiculturalism ?

(A) Societies must be moulded
into a culturally uniform and
homogeneous setup.
Differences in cultural

and social norms must be
amalgamated under the rubric
of a single national culture.
Only those societies which
have inflow of immigrants are
multicultural societies.
People are culturally
embedded and therefore
different cultures need to be
protected and strengthened.

(B)

(€)

(D)

Match List — I with List — Il and select

the correct answer from the codes
given below.

List - I List - 11
(Author) (Book)
a. Noam Chomsky i. Dark Side of
Democracy
b. Jurgen ii. Democracy
Habermas and the
Public
Sphere
c. Michael Mann iii. Deterring
Democracy
d. Chantal Mouffe iv. The
Democratic
Paradox
Codes :
a b ¢ d

(A) i i i iv
B) i il i iv
©) iv dii i i
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Q) iv

{1 A-t1mfel] 53 selel A1 B 2

(A) AMI% Airs(ds Ad RsUi 214

AHBY HIOWH] alnd) sl

(B) Aixslds ua aMLrs HiRdREAL
dstadal v1suiA AYIA Asldui

dod]l 2al 165l

M= L Y] 3 Bui quledluled
widudls B,ue uirslds uH 8.

€

q15l Airslds Ad asidal B el deil
(alat das(dadle 2811 s2aleil 244
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a. o1y Y] i. sibules s
Il
b. %let SleRMIN ii. SHIsA Aes Y
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d. elidia Y iv. °3u32s
21slsy

slsU:
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i il iv
iii

i
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11.

12.

In which of Plato’s works is Socrates
completely absent ?

(A) Republic
(B) Laws

(C) Apology

(D) Symposium

Which of the following statements
are true about the political thought
of Thomas Hobbes ?

Choose the correct answer from the
codes given below.

a. The principal cause of conflict
is the nature of man.

b. The subject has the right to
revolt.

c. Fear and self-interest are
two fundamental human
motivations.

d. Man is not atomistic and
asocial.

Codes :

(A) a,b,cand d
(B} a, band c
(C} band ¢

(D) aand c

13. “Institutions in republics do not

change with the times ... but change
very slowly because it is more painful
to change them since it is necessary
to wait until the whole republic is in
a state of upheaval.” Who said this ?

(A) Thomas Hobbes
(B) J. J. Rousseau
(C) Jeremy Bentham
(D) Machiavelli

11.

12.

13.

W2\l 5L Y sHi ABRA YL
A& &dl ?

(A) Ruleds
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(A) a, b, cud d

(B) a, b4 c

{C) by c

(D} avad c
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14. Match List ~ I with List — Il and | 14. 1€]l-1 A YIE]-1I A %1 A «{1A

choose the correct answer from the
codes given below.

List - I List - II
{Author) (Books)
a. J. J. Rousseau i. Three
Essays on
Religion
b. John Locke ii. Essay
on the
Origin of
Languages
c. Thomas Hobbes iii. On_
Toleration

d. J. S. Mill iv. The
Elements
of Law,
Natural
and Politic

Codes :

a b c d
(A) i i i iv
(B) iv i i i
(C) ii i iv i
D) i iv i ii

15. “Woman is specially made for man’s

delight .... If woman is made to
please and to be in subjection to
man, she ought to make herself
pleasing in his eyes and not provoke
him to anger.” Who said this ?

(A) Thomas Hobbes
{(B) J. J. Rousseau
{C) G. W. F. Hegel
(D) Karl Marx

U] sisyuiell vl died e SR,

iel-1 yigl- 1
(Quis) (Yds)
a. 9. % 1Al i. ol AA» 114
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dadAA

c. MY Eloy i, wllet 2lE32lel

d. 2. A Hld  iv. u A[Geey vils

ql, A4 ¥es
NICHE
sisu:
a b ¢ d

(A) i @i i iv
B) iv iii i i
(C) ii i iv i
(D) i iv i ii
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16.

17.

Given below are two statements, one
is labelled as Assertion (A} and the
other is labelled as Reason (R).

Choose the correct answer from the
codes given below.

Assertion (A) : According to Fanon,
black people are locked in blackness
and white people are locked in
whiteness.

Reason (R) : Colonialism is a total
project, according to Fanon, which
does not leave any part of the human
person and its reality untouched.

Codes :

(A} Both (A) and (R) are true and
(R} is the correct explanation
of (A)

(B) Both (A) and (R) are true,
but (R} is not the correct
explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

“As much as anyone can make use
of to any advantage of life, before it
spoils, so much by his labor he may
fix a property in; whatever is beyond
this, is more than his share, and
belongs to others.” Who said this ?

(A) Adam Smith
(B) J. S. Mill
(C) John Locke

16. <13 w04l se-IMiell A8 (e (A)

17.

e ofloy 5101 (R) 8. «{13 2414l
SIS el ARI die] Ye 53,

{ctilet (A) : Yelleloil Hd Yo Sl
dlslel S1UQIHI 5¢ S Al ©

e Ad dlsla AU 56 M
Wiyl 8.

512Q (R) : ellelell Hd 2wlisidie 1%

Ayel dloett B % clsdedt S16ul

¢l 3 defl dlRdlasdid eyl (-l

oie] 2&dl.

DRETE

(A) (A) WA (R)GiA UL B ¥ (R) A
(A) ol A uHdl &

(B) (A) A (R) Giad AU & UG (R)A
(A) il A1 UHA -1l

(C) (A)UIY B U (R)ulg &
(D) (A)uilg B Ud (R) A1 &
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(sd ML 53 B, %8 Wil Ydi uSai,BU|
Uil Y 2154l B, u Wl (Hasd 8.
wilef(ef] GUR Blell §101L GURideil 8, %)
Gilomedl 8.7 wil [Adla 519 58] ?

(A} +leH [y
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{C) »Blot dls

(D) John Rawls (D} 8l A




18. Match List — I with List — II and

choose the correct answer from the

codes given below.
List -1 List - 1I
a. Hannah Arendt i. Organic
intellectual

b. John Rawls ii. Space of

appearance

c. Frantz Fanon iii. Veil of

ignorance

d. Antonio Gramsci iv. Weightofa

18. lEl-1 el YIe]-11 ofl @l 52 wa

13 2 (0al slsHiell A oo Yie
52

el -1 ALE] - 11
a. Slell ¥I3e5 i, w315
SR
b. %8lel AR i, WA Al
AYlyey
c. §led bellet iii. Q&d {5

SAMReY

d. Weplofll AMA iv. Agse 28 u

AldlaoMel1
slsu:

a b ¢ d

A i v i i

civilization
Codes :
a b ¢ d
(A) i iv i i
B) ii #i iv i
(C) iv iii i i
D) ii iv il i

19. Which political thinker argued that

(B) ii
Q) iv
(D) ii

iv

iv

19, «lAsiiiedl sui sy Rds edla s

a revolutionary project must first
build consent across civil society
before taking formal power ?

(A) Karl Marx
(B) Mao Zedong
(C) G.W.F. Hegel

(D) Antonio Gramsci

8% us sifdsil WiBse (altizz ydl
ASRL 5 USH( UM «ALRS UHICTHI
Anld @y 152 »

(A) sid 15

B) Hi{l Hsl

(C) . s us. &4
(D) Ae2lelAl Al
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20. “The revolutionary war is a war of | 20. «gj(q5(32] Y, ) el H‘:L‘E.Rl"i 4ec, R}
the masses; only mobilizing the HIA el H1d2 2] 249
masses and relying on them can Auedl GUR B IHIR Awd) 2] 34 ulg
wage it.” Who said this ? 206l 23 . 611 5204 S1Q 58] B 2

(A) Karl Marx (A) 5id 1k

(B) Mao Zedong (B) HLu{] Bsial
(C) Vladimir Lenin (C) called]R @l
(D) Rosa Luxemburg (D) AL dasHHO{

21. Which of the following are three | 21. «{1d-1Hit]l Ui A8 dcdl 5121l
elements of Kautilya’s Saptanga
theory of the State ?

2R1e1L HHIDL Riegidetl dedl 8 2

(A) Dharma, Durga, Danda (A) HH, &L €5

(B} Kosa, Amatya, Shatru (B) S1, I, 213
(C) Swamin, Kosa, Durga (©) @], sly, gl
(D) Swamin, Shastra, Shatru (D) ], 211, 21

22. Which of the following is NOT a book | 22. «{lQ-i1uieil 53y w101 4R [dds

by Bal Gangadhar Tilak ? L] c'lb'lla.c'j, Yds a-lgﬂ 9

(A) A Step in the Steamer

{A) 3 @Y ol & WIHR

(B) Orion : An Ignored Historical

Research (B) al(et: et $U1S (E221R54
(C} Chintana Ganga M
(C) [Rid«t G211

(D} Vedic Chronology and
Vedanga Jyotish (D) aAles sl-ldlo Aes Al 2Rll[dN




23.

24,

Who of the following declared before
the Hunter Commission in 1882
that “in ninety-nine cases out of
a hundred, the educated men of
this country are opposed to femaie
education and the proper position
of women” ?

(A) Pandita Ramabai

(B) Tarabai Shinde

(C) Raj Kumari Amrit Kaur
(D) Sarojini Naidu

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Choose the correct answer from the
codes given below.

Assertion (A) : V.D. Savarkar
defined a Hindu as one who
regarded this land of Bharat Varsha
as his fatherland and holyland.

Reason (R) : V.D. Savarkar believed
that loyalty to the nation could
be imbibed into non-Hindus, who
did not form part of the national
community.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A}

(B} Both (A) and (R) are true,
but {R) is not the correct
explanation of (A)

(C) (A) is true, but (R) is false

(D) (A) is false, but (R) is true

23.

24.

{lA-A11iefl 5191882 Hi &22 sl
une e 54 od B “AMiel] stcary]
SuMi L taedl (RiEd yaul Al
3R] 2=l Wl2dledl 1oy Reildeil
[aR1t] 8 2

(A) lsdl Mieud

(B) dilwle (812
(C) UrSHIE] Ayd SR
(D) (el wttug

o{lA wdl seleildiel]l s [qu i (A) &

i ol 581 (R) B,

LD RATREIRARSSHTOI RSN 1A

Yt 53U

(Gtitet (A): dl.SLula53 [Seteil

uA WA WL S F (S5, A B

B &1 A+l o4 defl [Uey 24t

ufas e ARl 8.

SRBU(R) : dl.S].AIAR5 Hleldl &dl 5

UYL UAA] asleld] [wef-[SgMi elwg

s3] ASIA, BBl UYL UYEL2AeAL HIA

AR

DRTTE

(A) (A)n (R) o=l 1AL B M (R)A
(A)ell AR uHYAl B

(B) (A) 244 (R) tisl d1Ul B UG (R) A
(A)ell H10] Yyl «teil

(C) (A)UIY AU (R)uile B
(D) (A)uilg B ud (R)AIY B




Y
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25. Match List — [ with List — II and

choose the correct answer from the
codes given below.

List - I List - II
a. Ram Manohar i. Sampoorna
Lohia Kranti
b. M.K. Gandhi ii. Harijan
Sevak Sangh

c. Jyotirao Phule iii. Sapta Kranti

d. Jaya Prakash iv. Satyashodhak
Narayan Samayj

Codes :
a b c d

(A) i i i iv

B) i i iv iii

€C) ii i il iv

(D) iii i iv i

26. Which of the following statements
are true about Ambedkar and his
work Buddha or Karl Marx ?

a. Ambedkar, in this work,
understands Buddha and Marx
to strive for the same end — a
just and happy society.

b. Ambedkar suggests, in this work,
that the means propounded by
Buddha are superior to those of
Marx.

c. In this work, Ambedkar suggests
that it is possible to draw a
similarity between the Hindu
concept of Dharma and the
Buddhist concept of Dhamma.

d. This text is taken from a
speech delivered by Ambedkar
at United Nations Conference
on “Buddhism and Equality”

held in 1954.
{A) aand c (B) band d
(C) candd (D) aand b

25. YI€l-131 YLE]-T1+{] daell 5A 2 «{1A
el Slsuuiell AL wdled e 521,

ylel — 1 Ylel — o
a. U Hels? i, Aysl sild
dllsul
b. 345, ikl i, 8% Ads
el
c. opilfda 6@ il ¥H sild
d. ¥y uslel iv. &t 20us
(AL A%
515y
a b ¢ d
(A) i i i iv
B) i ii iv iii
(C) ii i iii iv
(D) iii i v i

26. {0552 vial WHeAl Yl §-“0fed, {12 s1c]
ULl Aeel {11l sU1 58101
AU B 2

a. oSS ¥l et UL YRASHI UHB B S
Ofe, Al MG V5 Aot LAY HI2
BN 5| Scll-o 1] vial Yuil uu oy

b. ialss, AUl M1 Y2cdsHI YU D b
b L1 YUAd ALkl 53di vgeg
GRL YU it Al2Aldi sl

c. HiWS5 WHedl vl YadsHiYUd B 5
ietl Bg vl WA Yyl offeRe
uy16 g Y leidl elRddl sy B,

d. BLuodd HiolssR 4R 1954 Hi
‘oladn Aa psalledl (Qua GuR
el 19925 ALY LI S18 LA
W1Ag SlesH w0 etNH el

daHi w1dl B,
(A) auq c (B) b wd d
{C) cuq d (D) auq b




A

27. Which one of the following books is | 27. {ld=i1Hiell 53 Yads Ssoild g2l

authored by Igbal ? quiRy 8 2
(A) The Problem of the Rupee (A) duleau u{ls bl
(B) The Call of the Marching Bell (B) 4 514 3{15 4 HIRPL g
(C) The Poet and the Saint (C) s w2 Aes Y Ager
(D) God and Our Inner Self (D) IS WS MR Fei2 Aes
28. Which of the following is NOT 28. (1A Mgl 53 Yacs AU, B, Ay
authored by M.N. Roy ? GIRL AWy el 2

(A) The Agrarian Problem and Its

(A) o 3 YlodH a5 B2y
Solution H]Cﬂilﬂi

(B) India in Transition (B) &[Sl Bel 2lobl2lol

{C) The Philosophy and Practice of

Radical Humanism (C) o [selA1sl w5 Ulsen vils
: : AUsse gi-ilny

(D) An Indian Communist

Manifesto (D} et pleSuet 512)[122 Heil32)

29. “Caste has nothing to do with 29. «oq(da 2 %13 S8 Aqrzal «1&l. »)

religion. It is a custom whose origin A5 RAI% B, B Getlade e § MNQAd)
I do not know ... But I do know that oefl... udg & veg e o5 A
it is harmful both to spiritual and viey (s 2 AR [A514 i HI2
national growth.” Who said this ? sLlA5125 8.7 w1 [aie 51Q 56] ?
(A) B. R. Ambedkar (A) ofl. 12 wiolss
(B) Ram Manohar Lohia (B) M Hlls2 qllsul
(C) M. K. Gandhi (O EENTRERS T
(D) Deendayal Upadhyaya (D) [eseutn QUi

-



30.

31.

Match List — I with List - II and select
the correct answer from the codes
given below :

List - I List - II
(Author) (Book)
a. Shruti Kapila i. Debating
India
b. Partha ii. Empire and
Chatterjee Nation
c. Akeel Bilgrami iii. Violent
Fraternity :
Indian
Political
Thought in
the Global
Age
d. Bhikhu Parekh iv. Gandhi’s
Integrity
Codes :
a b ¢ d

(A) i i i v
B) ii iv i i

(C) i i iv i

(D) iv iii i i

Who among the following opined that
State Formation, Nation Building,
Mass Democracies and Welfare
States are the four stages in the
development of modern State ?

(A) Stein Rokkan
(B) Carl Friedrich
(C) K. L. Watts

(D) Peter L. Taylor

30. AEl-1WA ALl delell 5 4 «{12

20| slouHiel A1l wdle ue 521,

el — 1 el -
(Auis) (Yre8)
a. gfd s(ual i. Sld(2a plesul

b.utef A2y i WURR A-S
o2l

c. wSlq oflayp] iii. qlalde ¥erell2l:

8 [eSYe]
yl€lZlsq elle
el Y oqluig
A%y
d. eflyyuRm  iv. iy peslaAld)
S15Y :
a b ¢ d

A) i i i iv
B) i iv i i
©) i i iv i

(D) iv i i i

31. -{12 U5l 519 2] vi(euiy vl 3

A% 85d?, AR, welfls
Alscll viel 5QRAIRL A, A MUY (o5
A%RA=AL {[A51HeAL AR delssi] & 2

(A) el As5iel
(B) 519 3sRs
(C) 3.34a.dlay
(D) \lez¥d 262
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32.

33.

Given below are two statements,
one is labelled as Assertion (A) and
the other is labelled as Reason (R).
Select the correct answer from the
codes given below.

Assertion (A) : Ted Gurr studied
revolution on the basis of relative
deprivation and interest based
factors.

Reason (R} : According to Ted
Gurr, revolutions occur because of
economic imbalances in society and
changes in international system.
Codes :

(A} Both (A} and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R} are true,
but (R) is not the correct
explanation of (A)

(C) (A} is true, but (R) is false
(D) (A) is false, but (R) is true

Who among the following is associated
with the concept of ‘circulation of
elite’ ?

(A) Gaetano Mosca

(B) Vilfredo Pareto

(C) Robert Michels

(D) C. Wright Mills

32. <A 21104 s(IMi 35 (Gl (A) B

e ol 51281 (R) 8. «{1A w14l
sIsuHiell AR wated Urie 520,

([attet (A) : 25 23 sildaletl 2041y
UL o5 lefl 24 [ed 2418URd
g125letl 1y (3 sl

51281 (R) : 25 ¢l Ha A IwHi

V1[5 WA e WidRAYIY

yeielMi uRad-a s sifd g 8.

SIS ¢

(A) (A) ¥ (R) Giel H1UL B 44 (R) ¥
(A) ol HA] Aoyl &

(B) (A) ¥4 (R) vid HiUl B ud (R)
(A)eil AL YU =tei]

(C) (A) U1 B Ud (R) Wl¢ B

(D) (A) W2 DU (R) AU B

33. {lA-lniell sl A 1H)eAl

A CEIRI RN CISTCETRIE
Ysndg 8 2

(A) Au21ell HIs1

B) dlesluiklal

{C) Awé Meley

(D) 4l Uv2 My




1A

34. Who among the following 34, <A1 USleAl 52 (Qglel veaplul
scholars is actively connected UR 3o AeUleld lgel] UUIR ULE
with the advancement of French o\s1Ad) & 2
colonization over Algeria ?

(A) Hl2asy
(A) Montesquieu
(B) A. Tocqueville (B) . 2l5(ad
(C) D. Diderot (©) sl sipskle
(D)} Frantz Fanon (D) §l22 dellot

35. Who among the following is 35. <1 Usle 519wy ([A518el Riegid
associated with the theory of UIA 514 & 2

underdevelopment ?
(A) 3(ds 8.uyeR
(A} David E. Apter

(B} Leonard Binder (B) [QYlei1S (s

(C) A. G. Frank (©) AN ¥<5
(D} Stein Rokkan (D) el Ag5lel
36. Who among the following 36. {lA-AHie]l S18l Jer w4l YREA]

expanded the conception of center [Celgeti Y "tf‘,l-lﬁ.ﬂ 219 Gu-u ) éeil

and periphery to core, periphery
5€Ustl dil3 [asuidl 2

and semi-periphery ?

(A) Raul Prebisch (4) AGH Noilel

(B) Immanuel Wallerstein (B) SHyud IRl
{C) James O’Connor (C) BRA AHSleAR

(D) Paul Bonan (D) Ule uiletot
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37.

38.

Arrange the following books in the
chronological order (year of first
publication) in an ascending order
and choose the correct answer
from the codes given below.

a. The Ethnic Origins of Nations
by A. D. Smith

b. Nations Matter by Craig
Calhoun

c. Nations and Nationalism by
Ernst Gellner

d. Internal Colonialism : The
Celtic Fringe in British
National Development
(1536 — 1966} by Michael
Hechter

Codes :

(A) d,c,a,b
B) c,d,a, b
(C) a,d, c, b
(D) a,b,c,d

Who authored, “The Doctrine of
Fascism” ?

(A) Emilio Gentile
(B} Benito Mussolini
(C} Roger Griffin

(D} John Lukacs

37. AlAeti YactSloll ASAL woysHHi dlsdl.

38.

QM YelH UsiRdeisll AN Yorol) ua o]
el slsuHiell ¥Il wdlo] Ue 53,

el peedls 20 Aogert 215 AU -
¥ gl [

w

b. ooty H22 - 32 3ctslGat

c. A2y Wes Ao - viedd
g2

d. go22ad Sldleflicllnu: u kegls

§1% 0l (6l [221 Aol SacuR e

(1536 — 1966 ) - HIE54 &Y
sls :

(A) d,c,a,b
B) c,d,a,b
(C) a,d,c, b
(D) a,b,c,d

«tf] S15clel 1§ s1AlBU~ oAl Quis

Sl &2
(A) A0 [GA) B-210€

{B) d«lel Yllasfl
(©) Ao AslA
(D) »Blel &Y5I5U

A
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39. Match List — [ with List —II and select

| given below.
| List - I

a. Effective
State

d. Collapsed
State
Codes :
a b c

(A) iii iv il
B) i i i
(C)iii i i

(D) iv i i

b. Flawed State ii.

c. Weak State iii.

iv.

iv
iv

ii

the correct answer from the codes

List - 11

No State
authority at all

Less effective
and main
areas of the
country are
outside the
government

control

State controls
the national
territory and
borders and
has control to
ensure that
national laws
are in effect

Low penetration
and legitimacy

39. Yigl- 1A ULEL - L A 1S A {12
10d | Slsuuiell ARIL el URie 5.

Ylel -1

a. HUWSIRS
U

i

b. aldAxd UL ii.

c. o4y} ARl

d. Udel 2Ag

A%
515y :
a b ¢

(A) i iv i

B) i i il

(C)ii i i

(D) iv iii i

iil.

iv.

iv
iv

ii

YLl — 11

S1SULL USiRedl
PR Ydlell 248t

1 USRS
A% BHi 22Ul
Uy (d12)
U513 (=A=1e]
WeR S B

AL L2leAl UL
B Ydld [+l
53 8 e dell
SRIEI] MABBRS
Ad wHauiiE 3 d
[ciladd 53 &

ENRIGEIRNE]
w2 Udi




40. Who among the following noted
that federalism evolved in three
different ways which he calls
‘coming together’, ‘holding
together’ and ‘putting together’ ?
(A} K. C. Wheare
(B) Daniel Elazar
(C} Alfred Stepan
(D} K. L. Watts

41, Match List -1 with List - Il and select
the correct answer from the codes
given below.

List -1 List - II
(Thinker) (School of
Thought)

a. E. H. Carr i. Idealism
b. Kenneth ii. Classical

Waltz Realism
c. Woodrow iii. Neo-realism
Wilson
d. Alexander iv. Constructivism
Wendt
Codes :
b ¢ d

a

(A) i iv i i
B) iii i iv i
© i i i iv

(D) iii iv i i

40. {11 U5l 519 Aq «{le2] B3 AHAIY dA

41.

A3l el %€l Tld Gesild uizj 8, %34
AQl U viaq), <UL 1St &g e
U1 sq” By afey 2

(A) & Hl cslur

(B) 3e{lud SenlR

(C) v{1ehs Ru-t
(D) % 4. dl2y

ALEL -1 «fl AuHel AL€]-11 %15 531
e o] vilal sISUHi] AU Fdln
yie 52,

el -1 ulel - o
(&ils?) (254 vil§ ell2)
a. 8. 4UsR i wuslsuldlau
b. be{le) dlez ii. sallldsd
Naidlnu
c. 43 [acuat iii. «{ly)
Julelnn
d. WAsHISAsS  iv. 52 &3dlAN
slsU :
a b ¢ d

(A) i v i il
B) iii i iv ii
(€ ii i i iv

(D) iii iv i i

I




42.

43.

Arrange the following treaties on
environment in correct chronological
ascending order in terms of the date
of signing. Choose the correct answer
from the codes given below.

a. UN Law of the Sea
b. Kyoto Protocol

c. Antartic Treaty
d

. Cartogena Protocol on
Bio Safety

Codes :

(A) c,a,b,d
B) b,d,a,c
(C) d,b,c, a
(D} a,c,d, b

Match List — I with List — II and
choose the correct answer from
the codes given below.

List — I List - II
a. John i. Man, the State
Mearsheimer and War

b. Joseph Nye ii. The Tragedy

of Great Power

Politics
c. Thomas iii. Is the American
Schelling Century Over ?
d. Kenneth iv. Arms and
Waltz Influence
Codes :
a b ¢ d

(A) i i i v
B) i iii iv i
(C) # iv i i
(D) iv i i i

42. -{1A e21{dd] yauiawl duitl

Vel GY SXdL8R SCMi vyl
deelHl uSdl wesHMi Alsd). <1
w104 slsuHial A1l wdloe] urie 521,
a. Yulel dl uls Al
b. lel vlelsig
c. w2135 212l
d. seloagell Ul215ld il st Ase]
slsU:
{A) c,a, b, d
(B) b,d, a,c
(C) d,b, ¢, a
(D) a,¢,d,b

. ALEL - 1ol el A€l - HonS 52

uet o1 w0a] slsyuiel uRl wainl
Ye 52

Ylel - 1 el - 1x

a. %flol HQULOMR i. Hel, 8 222 ¥]eS
akR

b. olAs «lid fi. o 28] wlsAe
ulg a2 sy

c. eluy Ao iii. O U HARSeA
Aoyl wlaz 2

d. dfladley iv. ypfaes

Ssu M

a b ¢ d

(A) i @i i v
(B) ii iii iv i
(C) ii iv i i

D) iv i i i



44,

45.

Which one of the following is NOT the
core element identified with realism
in international politics ?

(A) Statism
(B) Power
(C) Prudence

(D) Economic interdependence

Who was the first President of the
United Nations Economic and Social
Council ?

(A) Vijaya Lakshmi Pandit
(B) Dr. Rajendra Prasad

(C) B. N. Rau

(D) A. Ramaswamy Mudaliar

46. The North-South dialogue primarily

refers to discussions between

(A) Western and Eastern Bloc
countries

(B) Capitalist and Socialist
Nations

(C) Colonial powers and their former
colonies

(D) Developed and developing
Countries

47. Who of the following belongs to

English School ?

(A) Reinhold Niebuhr
(B) N. J. Spykman
(C) Quincy Wright
(D) Hedley Bull

14,

45.

47.

WidRAYIA A5 RQAUI 1A= 1ol 539
ded dixdddiesti Yua ded dilk

vl v «teil 2
(A) AdLE

(B) ¥l

(C) Ausl

(D) ifels Uudd s

Y st Al WLEs 21 A5
URNesAL UM UYWL 5181 &l ?

(A) [aesut aa{l ulsd
(B) Sl AP UALE

(C} wilWet21a

(D) AU Ml YeduR

Guiz-e(a1Q Adle wigMs Ad syl o
qefl YY[ (49l & 2

(A) ufEM uia yd edls-l 20
B) YoldI£l xa unmalel gABL

(C) auled] A it 3 dHedl ¢ayd
qyledl

(D) [asd wal [asieild 2eil

«{1A=ttuiefl 511 Soell 259 13
Asndal B 7

(A) edles-lofR

(B} el . WIpsUA

(C} il A

(D} &sdl wg
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48.

Constructivist theory gives importance
to which of the following elements in
the study of international relations ?

Choose the correct answer from the
codes given below :

a. Culture
b. Identity
c. Economic production and
distribution
d. Military technology
Codes :
(A) aand b
{B) band c
(C) aand d

(D) cand d

49, Who of the following developed

the Human Development Index
(HDI), a widely used measure for
assessing a country’s development
status based on factors like life
expectancy, education and income ?

(A} Amartya Sen
(B} Mahbub ul Haq
(C) Paul Samueison

(D} Joseph Stiglitz

48, idRAYVIY oitlld} 164 MU

ol iuiel] sAi dedlat RUALMS Rtegid
Hecd WL B2

«{1Q 24104l slsuuiell vl wqiul
Uit 5

a. Axsld
b. ulow
c. Ailels Geulea wa aduw]
d. 4259l 25-ldl%)
sls :
(A) aa b
(B} buq c
(C) axna d

(D) cu4 d

49, <{lAAiHie]l S1Q cAlus UHIRIMI

GuAH did} HiAd [as12 Yusis,
e, (2181 A IS Bdi
URuoll GUR vIHLRd ARl [As14-A)
e te] Yerliset seal v [Asld
sui 82

(A) 2u] Aet

(B) Héuy! G4 ¢5
(C) Uld Ay
(D) #1As wladlen

O
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50.

51.

Given below are two statements, one
is labelled as Assertion {A) and the
other is labelled as Reason (R}.

Choose the correct answer from the
codes given below :

Assertion (A) : Neorealism,
emphasizes on the impact of the
international systems structure,
particularly the distribution of
power among states and on their
behaviour.

Reason (R) : Critical international
theory argues that global politics
is deeply influenced by underlying
power structures and advocates for
challenging prevailing social norms
and power hierarchies.

Codes :

(A) Both {A) and (R) are true and
(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true,
but {R) is not the correct
explanation of (A)

(C) (A) is true, but (R} is false

(D) (A) is false, but (R) is true

Which treaty is instrumental in

fostering peace and friendship in

India-Nepal relations ?

(A) Treaty of partnership and
friendship, 1948

(B) Treaty of peace, friendship and
co-operation, 1971

(C) Treaty of peace and friendship,
1950

(D) Treaty of perpetual peace and
friendship, 1959

50. <i1A A sl 2406t B BHiell B

51.

(Aeitel (A) B v o{log 51291 (R) B. <12
(el Slouuiell A walet e 52,
(dtilet (A) : «1dl dlRdadle, HidRABIY
uRlelell i lel] 242 GU HIR Y3
8, Wi 5o il 4 U lefl adusil
) AUell adigls Guz.

SR (R) : (82159 MidU¥]A Riegid
eefld 53 D% RS AwSIRQY A BHR
AR Ul Hiowig] e Td
yelllad 2 & wa uddutet qimilss

e 1208120 vl Hllell sHa USSRl
(sHlud 53 9.

515U

(A) (A) ¥l (R) Giel UL B Al (R) A
(A) =l ALA] Mgl B

(B) (A)¥id (R) il AU B U (R) A
(A) =il AR Uyl =teil

(C) (&)U B U (R) Wilg B

(D) (A)ullé B U (R) UIY B

e{Rcl-AU 101 JHIMI 56 A(d 2Aild 1
(isAdlel 24101 qHRAM] SR B 2

(A) elAlel] el (MAdL 21,1948

B) 2tild, MaAdlud UssIR 2ilt, 1971
(C) 2ild ¥ (HAAdL2ilH,1950

(D) 2utxdd 2Lild ¥l [HaAdl ild, 1959
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52. Match List — I with List — II and
choose the correct answer from the
codes given below :

List -1 List - II
(Author) (Book)
a. Harsh V. i. Non Alignment
Pant 2.0
b. K. M. ii. The Indian
Panikkar Ocean in the

] World Politics

_ c. C. Raja Mohan iii. Neighbourhood
f First ;: New
? India’s Foreign
1 Policy
d. Vikas Swarup iv. India and
the United
States in the
21% Century

Codes :

a b ¢ d
(A) ili iv i i
B) iv i i iii
{C) iv i i i

D) il i iv i

53. Who among the following leaders
played a prominent role in setting
of South Asian Regional body ?

(A} Sheikh Mujibur Rehman
(B} Muhammad Mansur Ali
(C} Zulfiqur Ali Bhutto

(D) Zia-ur-Rehman

52, ULEl- I+l yuumell ulg] - mad s

4 o{|A w10al sIsuHiedl w1U osaiod
Ut 5.

Yigl -1 AR |
(Qus) (Ycls)
a. ¢y dl ud i. ;&g AL
b. 53U yl{ls: i Y 8[352111 B{lQlet
el Y qed
llalesy
c. L A% Hlset iii. AGUSS §¥E: Y
8=y 1Y 5131
Ulfa{l
d. [@s1d 4 iv. plesAul NS Y
Yell2S 22
et ] 321 53
3l
.‘s-l&%l:
a b ¢ d

(A} iii iv i i
B} iv i i i
(€} iv i i i

(D} ii i iv i

53. of|A-1Hiell 519 ela1 1211 UitRLs

AL @R UGIHT WAHR U 51 Hed]
&l 2

(A) AW Yooy 2&U el

(B) HéHe HeiR wd]

(C) peslsIR vl ol

(D) JAlUt B2 ULet

‘B
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54.

55.

Which organization, co-founded by
India, provides technical assistance
to and supports capacity building in

developing countries ?
(A) Asian Development Bank

{B) International Development
Association

(C) New Development Bank

(D) International Finance

Corporation

In which year did Afghanistan join
SAARC ?

(A) 1995
(B) 1997
(C) 2007
(D} 2016

56. Which Indian economist played

a significant role in shaping

India’s policies within the

BRICS frameworks particularly

in advocating for equitable
development and financial reforins ?

(A) Raghu Ram Rajan
(B) Montek Singh Ahluwalia
(C) Kaushik Basu

(D) Arvind Subramaniam

54. 53 AA6e1 5 2B MIRd glL Al

85.

56.

LA A1 &d, d [asiuella el
gudl [asAld s 25156 Uee
o HSALL RIS B ?

(A} A(21ust Sadlyez o

(B) pe2-2t-1q SAdlyse2
AR EEA T

(C) Y Sddlyil=e ol

(D) 29214 LU= ST

su| qyHi wstlLleadtet MIEHTASI1Y
&q ?

(A} 1995

(B) 1997

(C) 2007

(D) 2016

(G154 HIIM| MIRdedl «l[ddla
eSAM, LY 53a A1 (G451 Wi
LRSI A 1RBUe] [SH LA s

5| M Rc{lu wefellY) Yool eyfist
eogdl 8 2

(A) RERIM U

(B) st weqaidlul
(C) S1R1s vty
(D) i(de Yorilun

I
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58.

Which one of the following is NOT
an agreement signed between India
and the USA ?

(A) Basic exchange and
co-operation agreement for
geospatial intelligence

(B) Treaty on mutual legal
assistance in criminal matters

(C) General security of military
information agreement

(D) Logistics exchange
memorandum of agreement

Within the framework of the World
Trade Organization (WTO), under
which specific agreement does
India challenge trade measures that
affect its exports, aiming to ensure
compliance with international trade

rules ?

(A) Agreement on subsidies and
countervailing measures

(B) Dispute settlement
understanding

(C) Agreement on trade-related
aspects of intellectual property

rights
(D) Agreement on technical barriers
to trade

57. «ilAsiinie]l $AL iR M WRRSL

58.

as] $2U2 el ?

(A) a5 ¥1sA-2 VoS S1BIUIeL
AR 512 uil W lud
t5e2 [Gogay

(B} 2121 et 124 €l
([ Bl [5(Hotd Ned

() %-id [RAsyR2) vig Hldledl
o511 91el W1Ne2

(D) Alx[R2s A suAo HH1R5H 2§
A2

(At AUIR BdLBetell HIAW M 5UL

AU 55U 5AR 6N WidRAYIY AUReL
[t} 913 A dieil Widleli a8y
Al8 6114 QUi wadia ussiul k2

Wef| {518 UL S B ?

(A) USLA v YHALE Y2eliell 522

(B) d5AUR {112l AUl

(C) cutuIR Houildd ollfegs Auet
&5l «{l wldledl 5212

(D) cUluiRe{l 2501156 tilelidled] 5212




59. The “Ramayana Diplomacy” refers to
India’s efforts to strengthen cultural

and historical ties with which Asian
country ?

(A) Indonesia
{B) Nepal

(C) Sri Lanka
(D) Cambodia

60. Which of the following statements
are true of the US-India Civil
Nuclear Agreement which came
into operation in 2008 ?

Choose the correct answer from the
codes given below :

a. This deal is also called the
123 Agreement.

b. India was exempted from
placing all its civil nuclear
facilities under International
Atomic Energy Agency (IAEA)
safeguards.

c. The Nuciear Suppliers Group
granted an exemption to India.

d. India was required to sign the
Non-proliferation Treaty (NPT)
before this agreement.

Codes :

(A) band c
(B) aand c
(C} band d
(D) aand d

59. QUYL [SwllHAD sl 1 {1ue1 ot
U1 Uirglds v Aldsi1s doidld
Hogoyd 5 lett lclell Udceila

wel &2

(A) SeSla(1Ul
(B) <utn

(C) sildst

(D) 50il(sul

60. ~{1A-11niefl sl sl WHRS1-HRA
APIRS WY 5AL S B 2008 Ui HGUI
B L), W] AeelHi AU B2
o1 w10al slsumiell AR Al YRt
520

a. Bl 5 123 5 U 51
(4 B

b. elledl dsil oitl «111Rs 1Y
Uaddld Boeleld A2 M5
wWegd] (IAEA) AS0ULS &80
ysaiell ysd AmaImi 21 &d.

¢ <Yfsau AR YU Slirda Y5
¥l 8.

d. ¥l 5 Ui il Wldlsel- 2121
(NPT} GUR A&l 54] etrd 1I2
w{|q9US &q.

slsy:

(A) bauq c
(B) ava c
(C) buad
(D) ana d
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61. Consider the following statements | 61. {t/[13] ¥&i(«l t1Scell e -1l

regarding the composition of the
constituent assembly.

a. Representatives were to be elected
from four communities : Hindus,
Muslims, Christians, Sikhs.

b. Thechairpersonofthe Constituent
Assembly was appointed by the
Viceroy of India.

c. Total original strength of the
constituent assembly was 389.

d. Drafting Committee under
the chairmanship of
Dr. B. R. Ambedkar consisted
of eight members.

Which of the above statements
is/are correct ?

(A leflel w211eH] 4],

a. Uld(=lEasdl Jeel urR
AYeldHiell sael edl: (&g,
YR, fuiad), eflw.

b. Wit A letl AHeyatel]l (s
HIcloll ALBURNU LIR1 SAHI
w14l edl.

c. GIHIREL UELell §8 4] Yo
u2y| 389 &dl.

d. Sl ol 212, 24i6)58e{] wrBidl

&sulefl Y el AMldui 2116 o)
&dl.

Guzetl Higdl sy/sul (qu st/ (aeel
AU D ?

(A} a,b,cand d (A) a,b,c¥ d
(B} a, band d (B) a,b¥a d
(C) conly (C) Hid c

(D) a only (D) Hid a

62. Which of the following statements

is correct with regard to the
Government of India Act, 1919 ?

(A) It introduced universal adult
franchise at the provincial level.

(B) It made it compulsory that
majority members of the
Viceroy’s council had to be
Indians.

(C) Itintroduced bicameralism and
direct elections with regard to
legislatures.

(D) It withdrew the system of
communal electorates.

62.

s 1 g Blesul W52 1919112 +{1A

Uslef 53 (Quled 11y & 2

(A) A9 UR[21S 23 UId[EAS Yud
HdtEs12 elwg sl

B) disdu«{l uRyeM] sigHdl vedl

ellclly €l W did A sxAld
53l

(©) =R1psHI AR (el warl 44 sl
Yol elwd 53

(D) dAQ AiUelRS HdelR Hsuiledl vell
yies] vl



63. Match List —I with List —II and select

the correct answer using the codes
given below.

List -1 List - II
(Schedule of the (Content)
Constitution}
a. 9 Schedule i. Panchayati Raj
Institutions

b. 10t Schedule ii. Land reforms

c. 11% Schedule iii. Administration
of tribal areas
in hill states

d. 6™ Schedule iv. Disqualification
on grounds of
defection

Codes :

a b ¢ d
(A) i iv i iii
B) i iv i iii
(C) i 1 il iv
(D) iv i il i

64. As mandated by the Government

of India Act, 1935, elections were
held in Indian provinces. Identify
in which two provinces, the Indian
National Congress could not form a
Government.

(A} Madras and Bombay
(B) Punjab and Sindh
(C) NWFP and Bengal
(D) Bihar and Bombay

63. ULEl- I YLEl- T 21S) A <12

wi(el slsHiell M) osalel uys 5.

el -1 el - 11

(olael uREe) ([Qotct)

a. 94 uR[I® i uydl e
STRLIIEN |

b. 104 uR(2te ii. el YuREIL

c. 11 URRY iii. uddla ueeini

wilealAl
[Qxd-1l aélae
d. 6 SURRIE iv. ygyaaiel sRQ
3RS ddg.
515 :
a b ¢ d

A) i iv i i
B) i iv i iii
€ iii i i iv

(D) iv i i ii

64. didelioe U5 BlesUl B2 1935 <l

afioa ] €601 HRdlY UidIHi el
logctimi 24194, 2 & il BHi
Rl AT 51N HSIR o Welid]

US| detl 113 WYl

(A) MY ¥a Y

(B) yesiey i iy

(C) Vel se] s ] w4 et
(D) (SR ¥l i
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65. Match List — I with List —II and select
the correct answer using the codes

given below.

List - I List - II
(Landmark (Implication)
Judgments)

a. Kesavanand i. Polluter pays
Bharati case concept
(1973)

b. Hussainara i. Basic
Khatoon vs structure
State of Bihar doctrine
(1979)

c. M.C. Mehta vs  iii. Free and
Union of India Compulsory
(1985) Education for

Children
aged
6 to 14

d. Unnikrishnan iv. Speedy trial
vs State of under
Andhra Pradesh Article 21
(2002)

Codes :

a b ¢ d

(A} i iv i

B) 1 i i iv

(C} iv iii 1 ii

(D) iii i i iv

65. UIEl-T A ULE] —11 Y8l 415 A (1Y

e slsuuiell A1l wale ue 52U,

AlEl -1

MG >4 Ysie))

yigl - I

(4fde)

a. 39(qlole, MRAL BY i UL 5112

(1973)

b. S Widet

{d. [We12 ot

(1979)

C. WH Al He&d| {a.

M Lcly e
(1985)

d. Gsil (sl (.

T CRIEETRIC ]
(2002)
515U :

a b ¢ d

A) i iv i
B i i i
(C) iv i i

(D) i i 1

iv

ii

iv

ys5d
d [QyRr

. of=iyLel

Hinw el
Riegid

i. 62l 14yl

AT EARITE]
[1:2)e5 wia
sUwdld
[2La1

iv. ¥o28e-21

801 »sul
21ud




66. Match List -1 with List — Il and select
the correct answer using the codes
given below.

List - I List - II

(Jurisdiction (Type of case)

of the Supreme

Court)
a. Appellate i. Court of record
Jurisdiction with a power to

review its own

judgments
b. Advisory ii. Any question
Jurisdiction of law or public
importance

c. Miscellaneous iii. Civil, criminal

powers and
Constitutional
cases
d. Original iv. Matters of
Jurisdiction action as a
federal court
Codes ;
a b ¢ d

(A) iii i i iv
B) ii ii i iv

(C) i iv i i

66. Y11 AUE]-TT AL ¥)S) 244 «{1A

2 (Uel] S1suuiell Al @Al ude 52,

ylgl - I ytel - N

el vitldde  GAoll UsR)
sk AA)

a. alad @ad i 351 AR
UESR AL ueied B Uldlell
yslelullefl qleil
s3edd

b. Yalsa @ig ii. 5Ll GAd)L B
wfEsR & HEHEeA 518
ugl usl

c. A A1) did. €laledl, slorelRl

A oiyRE{R 3
d. W{@s iv. ¥Hael wieled
(e 512 84 dil3 5L Yl
514l
5154 :
a b ¢ d

A) iii i i iv
B) i i i iv

(C) iii iv i i

(D) ii iv i i (D) ii iv i i

A
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67.

68.

69.

Which of the following combination
constitutes a veto power of the
President of India ?

(A) Absolute, suspensive and pocket
veto

(B) Absolute, qualified and pocket
veto

(C) Absolute and suspensive veto
(D) Pocket and qualified veto

Who among the following is

constitutionally vested with the

power to declare castes/tribes

as Scheduled Castes/Scheduled

Tribes ?

(A) Parliament

(B) Union Home Minister

(C) President of India

(D) Chairman of SC/ST
Commission

Match List — I with List - II and select
the correct answer from the codes
given below.

List - I List - II
(States) (Special
Provisions)
a. Goa i. 371 -D
b. Mizoram ii. 371 -B
¢. Assam iii. 371 -1
d. Andhra Pradesh iv. 371 -H
v.371 -G
Codes :
a b ¢ d
(A) iii v i i
B) v i iv ii
(C) v iv idi i
Dy i v i i

67. <A USle 5 1S5 etldell ABULA «il

68.

69.

dle} uigz- ea1(d B 2
(A) wHale, AU wA We dl2)

(B) wiaule, HAiled v Ulke dlel
(C) wiHule wa AW (=g d12)

(D) ul¥e ua Huiled dl2)

«{13 US] Sia Alaula EsR 210 &

3 d 2aflduilereton fdalla w4y Rid
os(cl/uogy A et ld a3 dlNd
sk
(A) ¥ue
(B) Adelly il
(C) elldeil Aruld
(D) AWAALAIY2L s[HeteAAL weU
ALEL-T ol YLEL-TT 18] 251S) A (1A
wUdl sIsHig] AR wdle Ui 5.
ylel -1 Yigl - I
RI%) ((ale *araid)
a. gl i. 371 -D
b. [H¥lu ii. 371 -B
C. B[MIH ii. 371 -1
d. iy U9l iv. 371 -H
v. 371 -G
5154 :
a b ¢ d
(A) iii v i i
(B) v iii iv ii
C) v iv iii i
D) iii v i ii




70. Which of the following statements are

71.

correct about the zonal councils ?

a. Zonal councils were set up under
the State Reorganisation Act.

b. Zonal council discuss various
issues of common interest in the
field of planning, river waters,
inter-State transport.

c. Zonal councils enable the
Centre and States to cooperate
in evolving uniform policies in
social and economic matters.

d. The zonal councils decisions
are binding on the Centre
as well as on the State

Governments.
Codes :
(A) a,band c (B) a,cand d
(C) bcand d (D) a,band d

Given below are two statements one
labelled as Assertion (A) and the
other labelled as Reason (R). Choose
the correct answer from the codes
given below :
Assertion (A) : According to Atul
Kohli the State in India during
the 1980s experienced a ‘crisis of
governability’.
Reason (R) : Atul Kohli argues that the
democratic institutions decayed by
surrendering to immediate electoral
pressures exerted by various social
groups during the 1980s.
Codes :
(A} Both (A) and (R) are true and
(R} is the correct explanation
of (A)
(B) Both (A) and (R} are true
but (R) is not the correct
explanation of {A)
(C) {A) is true but (R) is false
(D) (A} is false but (R) is true

70. A1y 516Gt e 1 AeAiel] sUL

71.

[auiel A1ui B 2

a. A4lu 51Gugedl el A
Yeiell Slofel @601 S 1M w4id]l,

b. w1logel telell ot ua widARIY

URassta @dAdl dHleilSdoil [alay
yeluilel yul g-4ly 5164 53 8.

c. YHL[rs viol ifels vitodcd) HI2
W 5 1y ofl{cdadleil 852 HIS 2URLL
A For, AR Y&s1R HI2 Ay
sIG(ud yHelo 210 B,

d. &A1y 51G(uat] (AR Jeg, 1A

A% A1 HI2 iy S1Y B,
SlsU :
(A) a,budc (B)aculd
(C) bcuad d (D)a,budd
o1 21 (Ud] seflii 215 (qriel (A) B
¥ ofly 51281 (R) 8. «ilA w104l
sisHiell AR wdled Y2ie 52,
[autet (A) : 21qd Sledlelt Hd Yosod,
1980 =l t1USIHl HIRAH] 212412
Ade{ (462l 52152) wief@idl.
51281 (R) : Add sledlel Ud Y
1980 Hi latsivll dls2lls] AR
Sy AL, Aedl HIR b el el H1nils
% &1 Ysaldi wide Yeuilaeil
el Al dlo) a L.
sisy
(A) (A) ¥ (R) sl U1Ui B o (R) W
(A) ] A0} Ml B
{B) (A) w4 (R) visl Ui B ud (R) A
(A) =1l AR{ AU teil
(C) (A)UR] DU (R) Mg B
(D) (A)ulg B uid (R) AR B




72. In which State did the farmers’ 72. SALRARIMI Wsdlefl yaqd <yiq
movement intltoduce the strategy Qi) «1l Yol 2% 5319
of ‘Gav Bhandi’ ?
(A) Maharashtra (A) HeRIY
(B) Karnataka (B) 5Rlles5
(C) Gujarat (C) AosUd
(D) Andhra Pradesh (D) uiy utel
73. Match List -1 with List— [l and select | 73. yi€]-1 =l Yi€l-11 %19 u4a «{1Q
the correct answer from the codes ) .
given below. 11091 sisuHiel w1l Lol e 532,
List - I List — II gl -1 gl - I
(Scholars) (Ideas) (Qgla) (@uw)
a. gfaf(;;b L }Ijmféf?#ﬂty of a Wolotlel i URLL[ESI
archan radition w145 52l
b. Rajni Kothari ii. Political and 1968 i ,
economic b. el Sloldl i eldui [Asi
arguments N éﬂ,‘s qols
about ded] AwSIY v
development w1 (&5 edld)
in India and i @l
competing c. ylulAgy il sillde
classes TSRS
c. Partha iii. Politicisation d. %S]C'fs v iv. 302 qadl WA
Chatterjee of caste wS\ES 21831 a3lodlel
d. Rudolph iv. Political society 0y Gl 2051
and Rudolph  comprising of YRYIL S
rural population 81§2'l .
and urban poor
Codes : a b cd
a b ¢ d (A) i i iv i
(A) i i iv i (B) ii iii iv i
B) ii i iv i S
€ i i i iv © 1 i i
(D) iv @i i i (D) iv i i i
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74. Who among the following scholars

studied the politics in India using the
framework of ‘passive revolution’ ?

(A) Atul Kohli

(B) C. P. Bhambri

(C) Subhash Kashyap
(D) Sudipta Kaviraj

75. Which among the following pairs is
wrongly matched ?

(A) Lawrence : Federalism without
Saez a Centre : The
Impact of Political
and Economic
Reforms on India’s
Federal Design
(B) Partha : Wages of Freedom
Chatterjee
(C) Bhikhu : Democracy and
Parekh Social Change in
India
(D) Rob : Democratic Politics
Jenkins and Economic

Reform in India

76. Who among the following authors
attempted to study politics in India in
terms of a tussle between ‘Command
polity’ and ‘Demand polity’ ?

(A) Rudolph and Rudolph
(B) Myron Weiner

(C} Jyotirindra Dasgupta and Atul
Kohli

(D) James Manor

74. {1 Usle1l sUL (ALl it
21%5121eA] [ [osy sild st HITWL
S50l w1y sl 2

(A) widd sledl
(B) dluleteRl

(C) yeuN 593y
(D) Yelu slazies

75. <113 Uslsf 53 15§ vilél 2l
flsidg & 2
(A) dlRd URS: dsAdlu [quiGe W

Aoz - Hl prls2 vils

Ul [q{256 25
BSleAlTLs RS 2ilat

Sl 55

[SHLe-
(B) Witti A2 : A 6l slsH

(©) el U 3B Aes B4
Yooy 8o (oS

(D) A Basloy = SHIBRs Vl[El2sy
o5 p5l-l s
RS et plesul
76. o{lA-411iefl 519 @1lRcletl RAFSIRAA

WEALH W (1219 ARAAA’ el

U] AeridHA® qet | AN el

sdlefl UL 541 2

(A) 15165 U 1Sles

(B) HIdRAe [Qet2

(C) llldRe, luAHL W

udd Sledl
(D) oy el

~4
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77. Apolitical party in India has to satisfy

78.

which of the following criteria to be
recognised as a national party ?

(A} A party should win 3% of seats
in the Lok Sabha from at least
three different States

{(B) The party polls 6% of votes in
Lok Sabha or State Assembly
of any four or more States, and
besides it wins four Lok Sabha
seats

(C) A party gets recognition as a

State party in five States

At least secure ten seats in
Lok Sabha election

(D)

Which among the following is/are
the reasons behind the Jharkhand
movement ?

a. Land alienation
b. Politics of identity
c. Religious conflict
d. Inter-State border conflict
Codes :
(A) aand b
(B) b,cand d
(C) cand d
(D) onlyd

77.

78.

5 AV U dIF dledl Ui sal
HES MIRdAHL ¥15 sty ual Al Astimieil
SULHIUESA AdNAL US B 7

(A) ARl G AL i ] d ud

1M 211ed] 3% o8l Wddl
U3

d &l 6% Hd dlsueH] 5 sldusl
AR S qy [y M dad 8

(B)

el Y IRAHI AR WES] dlsAHIML
%d &

Wi ARHE 2 ust 21w ugl d3
Hldl Hnd &

\®)

dlsAeiidi v189Mi w116l 10 s8]
»d 8

(D)

{111 WS AS]e 1 SAY/s2L SR
HLRVIS NGOl HIS FAHElR B 2

a. of[1 Aeel wqaug
b. {lAuig A%SRKL
c. dif{s e
d. vid2 A Yet [ddle
515 :
(A) a v b
(B) b,cna d
(C) cuq d
(D) U d
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79. Given below are the statements

related to the implementation of
Nari Shakti Vandan Adhiniyam.

a. The Adhiniyam would be
implemented after the
publication of the census
following delimination.

b. The Adhiniyam would be
implemented after the process
of delimitation is complete.

c. The Adhiniyam incorporates a
sunset clause.

d. The Adhiniyam is implemented
from the 2024 elections.

Which among the above statements
is/are true ?

Codes :

(A) a,band d

{B) a,cand d

{C) a,band c

(D) only d

80. Who authored the book ‘Competing

Equalities : Law and the Backward
classes in India’ ?

(A} Stanley A. Kochanek
(B} T. K. Oommen
(C) Marc Galanter
(D) Ramachandra Guha

79. <l 2l5d det wlalun Aed wsl
(Atefl AH04i B,

a. SlEf1221e tiieedl dadl ARAl=i
usielel uedl | Al l1uns]
wHE 51 242l

b. SUELT22Aee0 ulsul Yol ayl uite
| 3 (g (Ayu] 2165 Q).

C. | w (e (AU ¥ ‘HAA2 5eloy

8.
d. ¥l uElAuy 2024 <l Yeilui

BUHEH| YSAIN] ictl.

Guell Higll s3/sul [aut 214i & 2
sl :

(A) a, b3 d

(B) a,culal d

(C) a,bua ¢

(D) HIAd

80. “51uTal Sscidlly : d) A5y
A5qS ARl Sel 85Ul W Y Sell

quis 5191 8 2

(A) we1d] . SlALLS
{B) 2l.%. Gl

(C) Hi15Ade22

(D) UHAE sl

-4




81.

82.

Who wrote the book “Public
Administration as a Developing
discipline” ?

(A) Gerald Caiden
(B) Nicholas Henry
{C) Henry Fayol

(D) Robert Golembiewski

“Organisation is the form of

every human association for the
attainment of a common purpose”.
This statement is given by

(A) J.D. Mooney
(B) L.D. White

(C) John M. Gaus
(D) Luther Gullick

83. Felix Nigro points out four basic

elements of similarity between
public and private administration.
Which of the following is NOT among
those four ?

(A) Human Relation Approach
(B) Service and Cost

{C) Concept of techniques of
Scientific Management

(D) Bureaucratic elements

81.

82.

83.

“ylogs WM [ 221e1 W v 3a4al
(SR Yadis 518 quj &q 2
(A) DBRICS 555

(B) [«1sldy &e13]
(C) &3] 544
(D) Awié NAruiias]

“YLHL [Sclefl uLlH HI2 ULg €35
Hlold AAEets] 2aeY V) H2A6e1 B.” A
s 518 58] 8 2

(A) . sl yl

(B) 24, Sl calge

{C) dlol W, Y

(D) ey yfas

3(e s (a1l o1& adlae wa Widil
aelde dl ¥pAdl Hlddi AR Hoeyd
dedlell [[iEel 53 8. «{1 Aot el sl
dedell 3 AR dedldi yHidel adl

stef] ?
(A) Hleid Aoid wlen

(B) Adl wa wiY

(©) Asii(=ts Hulaeteil 25011514l v2AIG
(D) wu4sl2ULE] dedl
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84.

85.

(C) cand d (D) a and c (C) cua d (D) a wa ¢

Given below are two statements, one
is labelled as Assertion (A) and the
other is labelled as Reason (R).

Select the correct answer from the
codes given below.

Assertion (A) : Maslow’s need
hierarchy is the first systematic
conceptual model of human
motivation.

Reason (R} : Maslow explained
that human needs influence
human behaviour.

Codes :

(A} Both (A) and (R) are true and
(R} is the correct explanation
of (A)

(B} Both {(A) and (R) are true,
but (R) is not the correct
explanation of (A)

(C) (A} is true, but (R) is false

(D) (A) is false, but (R) is true

Which of the following trends are
NOT associated with comparative
Public Administration ?

Select the correct answer from the
codes given below.

a. Normative to Empirical
b. Ideographic to Nomothetic
¢. Prismatic to Fused
d. Traditional to structural-
functional
Codes :

(A) aand b {(B) band d

84.

85.

{13 vi1dal se-uiefl 35 [quld (A)
w4 o{loy 51281 (R) B. «{1A wilal
s1suuiell ARM yale ure 53,
{qtllel (A) : NElell ARYld=1

Ut lofs1 2] Hield 24 [GUN8EL-1) UH
Usg{duRell v lElds wAell &dl.
51261 (R) : N1 yUM] 5 Hlelq
o= RULd] HiAAdld adyisa ueitlad
52 9.

8].'52{ :

(A) (A) el (R) Gidd UIAL B W4 (R)A

(A) <ll MR 4] B

(B) (A)ud (R) 6ial AU B U (R) A
(A)y =il 1Al 2uA] ot2fl

(C) (A) A1} DU (R) Wl B

(D) (A) Wl BUid (R) AR B

oAt 11l sui a9l deelicais S
aélae %S daudt H1ddi -1l 2

13 vl [asapiuisl xaie uie s,

a. el Yasel visjeigoset

b. QuIRsdliell [Auni-deil

c. [u»nlzsell MfEd

d. uuiadell Miauisla- siuiels
S18% ¢

(A) aua b (B) bwd d




S
h ]

86. Which of the following is the 86. llA-ilHiel] 56 wilold =1l 182
basic premise of New Public AUlGetell YO HHR 8 2
Management ?

(A) Government is a primary {A) AR Gyl % AMLS sl U2
agent of all social actions Yu Ao &

(B) Large Governmental
Bureaucracy B) [deum Azs13 «Alsellel

(C) More flexible and open (©) a4 uRad-iefle A ujee] SR
Government

(D) Paternal Government (D) U[A5 IR

87. Who defined bureaucracy as 87. 2421671 5 % Uldl-il ejdiniedl eiluila
“Organisation that cannot correct Uldiell le[QLfs lj,tll?fl 25 2] ” il

its behaviour by learning from it
its behaviour by learning from its A4 s21i€lA 19 uRetl [ 53 2

errors” ?
(A) Michel Crozier (A) Hipse sl
(B) Max Weber (B) Hsy AuR
(C) Karl Marx (C) sid HL5Y
(D) Robert Merton (D) AWE Hee
88. Human Relation Theory is also 88. Uleid Aoiy Riegid vl TWd uLl
known as MR
(A} Humanistic Theory (A) Hidddldlel Riegid
(B} Socio-Economic Theory (B) ulHL[s-w1(els Riegid
(C) Neo-Classical Theory (C) oldel 2y Riegid
(D) All of the above (D} GURell o4y| %




89. Match List — I with List — Il and select
the correct answer from the codes
given below.

List -1

a. Mooney J. D.

b. Millet John

c. Follet M.P.

d. Katz and Kahn iv.

Codes :

A) i i
B) ii iv
(©) iv iii
(D) iii iv

List - II

i. The essential

circumstances
of leadership
are political
and
institutional.

ii. Leadership

is the form
that authority
assumes
when it
enters into
process.

iii. Leadership is

the influential
increment over
and above
mechanical
compliance
with the routine
directives of the
organisation.
Leadership is
not defined by
the exercise of
power but by
the capacity
to increase
the sense of
power among
those led.

89. AlEl-1HAYUIE]L - 1T o] desil 5] vl «{1A

w4l 51S Hiell ALl @i Yie S,

el -1

a. 1;,![;1 o Sl. L

b. (42 et

c. 8142 W\l iii.

d. 522 AL iv,
S5lget

sl :

(A) it i iv il
B) ii iv i i
(€) iv 1i i i
(D) ii iv i i

yiel - I

elqcciotl A1AUS
AN 2U%S1Y W
AeuLsly B,

i, Sded ¥l A5 2wy

&, %8 Al ASKL 52
& o3 d ulsAi
elud o 8,

e 2] A &elell
Afwel il 1
Ai[AS viejuiGet

Guz Gedoyul
ueitqetieil qle B

Adedsl Arlledl
Gulal el
YRHLMNA s
ste{] vilad ug
BY elRAIMI
Wil B VM|
Acdlef] MudetiMi
qfeg, s2al-(l
eiddl ol s

|4 8.

3



90. Who is considered as the father of
‘Social System School’ ?

(A) Herbert Simon
(B} Elton Mayo

(C} Chris Argyris
(D} Chester Barnard

91. Public policy evaluation is NOT done
on the basis of which of the following
parameter ?

(A) Efficiency
(B) Equity

(C) Effectiveness
(D) Profit

92. Which of the following is NOT the
component of the concept of Good
Governance ?

(A) Rule of Law
(B) Responsiveness
(C} Transparency

(D} Bureaucratisation

93. Which of the following is optimal
model of policy-making according
to Y. Dror ?

(A) Pure Rational Model
(B) Incremental Model

(C) Economically rational and
Extra-rational model

(D) Pure rational and
Economically rational model

90.

91.

92.

93.

‘UH Lo ] WoeY Y el (Ul Slel

QY & 2

(A) sud UM
(B) ¥e2+ M)
() sl wlRu
(D) A2 uafS

f1&2e{1 (o] Yeuisot of1Atiniell sul
URHIRIA HIHIR sCM] 241dg «teil 2
(A) sRI&HdL

(B) “dIAAcldl

(C) USR8
(D) i85l

of [ 18] 53 YAleteil [cetlatetlo]

g2s «efl 2
(A) SlUELe 2Rl

(B) uldetlalcsdl

(€) ulrelsldl
(D) «ilsellEl 530

At SIel Hd ofl A= el 5 H1de

ollld [Auig 12 A% H13d & 2

(A) e, dSiotd H13d

(B) qleg Hl3d

(€) wllels 21Q dSold w1 qulie]
d5dotd H13e

(D) 2Yes d5AAd w1 w41(el5 21
dSiatd {13




L

r

94. The rf:sponsive public administration | g4, dtsioila o132 adlaz HIR %3] B
requires

a. i
a. Institutional safeguard of 2slsa guudil drasl el
technical competence b. HUle ¥xuses

b. Flatter organisation c. ofﬂ,é{ aq31°1f1 Gw ?.ﬂDZ{dl

c. High calibre of public servants ¢ .
d. Sl4&MHdl] UHIBLYd ¥R
d. General standard of efficiency

Select the correct answer from the ollAetiiell 2=t 8ls udie 5.

codes given below.

Codes : S-IQH :

(A) a,bandc {A) a,bya c
{(B) a,band d (B) a,baya d
{C) a,candd (€) a ¢l d
(D) cand a D) c ol a

95. Which report of the 2°¢ Administrative | gg
Reform Commission pertains to
Right to Information : Master Key udaid HUElAl UESIR: YollAetdl

to Good Governance’ ? ARUA QA UI D ?
(A) First report (A) ueH edle

(B) Fourth report (B) A&l w&dld

(C) Sixth report (C) gl vi&did

(D) Ninth report (D) <laul wdald

< Bcllar adlall Yureil AR sA

36. How many reports have been | 96. [gdlu adladl yuien ol gl
India by the Sl?CO.I'ld Administrative HI2d Y514 k24| vedldl Yud
Reform Commission ? ]

4) 10 S Al B 2
B) 12 (g) ig

o1 o

(D) 18

(D) 18




97. In which year was the National | 97. o{:dMi zlg'lq £5_0|cloto ot (NeGP)<]
e-Governance Plan (NeGP) formulated Gl ‘. ) ..
in India ? il 52Ul QMU sAIM] B} &g ?
(A) 2004 (A) 2004
(B) 2005 (B) 2005
(C) 2006 (C) 2006
(D) 2008 (D) 2008
98. Match List — 1 with List— Il and select | 98. L€l -1 A ALE]-IT U1 13| wal (1A
the correct answer from the codes u{ e S1SuHief]l AL e Y 53,
given below.
el -1 AEl-11
List - I List - II ¢
515 Gtu
(Programmes} (Objective) ( ) . (G
a. Janani Suraksha i. Entitling all a. wlgRel i meuflu s
Yojana pregnant Yloweil Ui €35 iRl
women 2{[ES512
institutional b. Ax(Ses ii. SlRu2aell
b, Accredited Social it ;fh"efy AlRud Sey qeiRls]
. ACCredite ocial 11, anage a Sé].q’lR%‘l u(hi.t{ o
Health Activists affairs of the N .
hospital c. ISR i, Hldt HgeMl
c. Rogi Kalyan iii. Reduction AMfd g21sl
Samiti of maternal d. oelsfl-(21g) v, AYeilds
mortality y2ait s1dsu 21219y Aq| 4R
d. Janani Sishu iv. Facilitators, AU %j,feltll
Suraksha Mobﬂlzet"s 2 Wo(Ed
Karyakram and providers i
of community sl i y(d
health service 5l {5l
Codes : 5'152.[
a b c d a b ¢ d
{A) i v i i (A) i iv i i
(B) iti iv i i (B) iii iv i i
(C) ii iii iv i (C) i i iv i
(D) i ii idii iv (D) i ii iii iv



z8=1o

99,

100.

Which of the following features are
associated with citizen’s charter ?

a. It is a document made by
Government agencies stating
its commitment to citizens.

b. It empowers citizens to
demand the committed
standards of service.

1

It is legally enforceable.

d. It boosts accountability in the
delivery of public services.

Select the answer from the codes
given below.

Codes :

(A) a,band d (B) a,bandc
(C) a,cand d (D) b,cand d
Match List — 1 with List —II and select

the correct answer from the codes
given below.

List - I List - I1
a. No confidence i. Executive
motion control
b. Budget ii. Judicial
control
c. Mandamus iii. Legislative
control
d. Lokayukta iv. Citizens’ control
Codes :
a b ¢ d
Ay ii i iv iii
B) iv. 1 i i
(Cy iii i iv i
Dy iti & i iv

99. o{lA-11Migll sUl cgL ALRS
W [a5RuUA 2913 iy 4AQ B 2

a. «{lARS) U aUsiegdl e2tiadl
USR] Vegr{lall gL Weiladidi
2144 £219% B,

b. Adieil WIdIYdsell uHiLled
¢80 Hidate] 1R 814 Ul
U B,

c. U styelsly Ad WHaui ysl
ASIY B,

d. dlsddletl [ademiw
GdelRcda Gaosel 21U 8.

«{12 2{10a slsuuiell ARl waln ude
53,

R E

(A) a,buwald (B) a,b¥d c
(C) a,cua d (D) b, c ¥4 d

100. ULEl-1 3 YIEL-T1 o] qeell 5] W

of12 2 10EL stsuiell Al wale
YAe s2U.

el - 1 yigl - 1

a. a1yl i. SRR (a1
gl
b. 2{eesund i, *ALRS [AAAR
c. ¥Rkl iii. tIASIA (14
d. dlsiysd iv. dlLRS (AR
SIS :
a b ¢ d
(A) ii iv iii
(B) iv
(C) iii i iv i
D) ii i ii iv
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